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GENERAL INSTRUCTIONS:

e This paper is divided into 4 sections, all sections are compulsory.

e Sections A, B and C contain Objective Type Questions of 1 mark each and need to
be answered in the question paper itself.

e Section D contains Subjective Type Questions and should be attempted in the ruled sheets
attached.

SECTION A
LOGIC AND REASONING

Q1.  Find the number of triangles in the figure given below:
a) 14 b) 16 c) 18 d) 20

Q2. The map of a town was placed in such a manner that South-East becomes North, North-East
becomes West and so on. What will the South become?
a) North b) North-West c) North-East d) West
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Q3. Inthe figure given below
11
4
1
[
10\ 8
9
2 3 6
7
i. Rectangle represents Men
ii. Circle represents the urban men
iii. Square represents the educated men
iv. Triangle represents the civil servants
Find the number indicating the uneducated urban men:
a) 4 b) 5 c) 7 d) 11
Q4. A man leaves from his office for his home. He walks towards East, after moving a distance of
20 m, he turns South and walks 10 m. Then he walks 35 m towards the west and further 5 m
towards the North. He then turns towards East and walks 15 m. What is the straight distance
(in metres) between his initial and final position?
a)0 b) 5 c) 10 d) 15
Q5.  How many rectangles are there in the given figure?
(@17 b) 18 c) 19 d) 20
Q6.  Rahul has a paper distribution route. Each morning, he delivers 37 newspapers to customers in
his neighborhood. It takes Rahul 50 minutes to deliver all the papers. If Rahul is sick or has
other plans, his friend Pradeep, who lives on the same street, will sometimes deliver the papers
for him.
a) Rahul and Pradeep live in the same neighborhood.
b) It takes Pradeep more than 50 minutes to deliver the papers.
C) It is dark outside when Rahul begins his deliveries.
d) Pradeep would like to have his own paper route.
Q7.  Which number from given options will replace the ?’
c
a) 75 b) 26 d) 20
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Q8.  Find the missing number, if a certain rule is followed row-wise or column-wise.

6 6 6
5 7 5
4 3 ?
120 126 240
a) 4 b) 8 c) 12 d) 16
Q10. Manish is 19th from the top and twelfth from the bottom in merit in the class. How many
students are there in the class?
a) 30 b) 29 c) 28 d) 27
Q11. A clock is so placed that at 2:00 p.m. the minute hand points towards North-west. In which
direction does the hour hand point at 6:00 p.m.?
a) North-West b) West c) North-East d) South-East
Q12. According to a code, SYSTEM is SYSMET and NEARER is AENRER. What is the code for
FRACTION?
a) CARFTINO b) CARFTION c) ARFCNOIT d) CARFNOIT
Q13. Look at this series: 80, 10, 70, 15, 60, ........ What number should come next?
a) 20 b) 25 c) 30 d) 50
Q14. In certain code language,
‘Sam Dan Wum’ means “Birds are chirping’;
‘Dan Jo Sot’ means ‘Birds and Horses’
‘Mut Sam Ko’ means ‘Owls are smart’.
Which word in that language means ‘Chirping’?
a) Wum b) Sam c) Sot d) Mat
Q15. A river flows west to east and on the way turns left and goes in a semi-circle round a hillock,
and then turns left at right angles. In which direction is the river finally flowing?
a) West b) East c) North d) South
Q16. Statements: All the pencils are pens. All the pens are Inks.
Conclusion:
I.  All the pencils are inks.
Il.  Some inks are pencils.
a) Both | and Il are correct b) Only I is correct
c) Only 11 correct d) Neither I nor Il are correct
Q17. Inthe series b_a ba b _abab_aab; fill in the six blanks using one of the following given four
choices such that the series follows a specific order.
a) bababa b) baabba c) bbaabb d) ababab
Q18. Considering the following sequence of numbers:
51473985726315863852243496
How many odd numbers are followed by an odd number in the above sequence?
a) 5 b) 6 c)7 d) 8
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Q19. Which of the following is a net of given solid?
7N
7N
a) b) c) d)
Q20. In a certain code, if GUN is coded as 309 and DEAR as 1498, then how is UNDER coded in
that bris the code?
a) 90148 b) 39148 c) 09148 d) 49138
SECTION B
MATH
Q1. An athlete jogs everyday, swims every other day, lifts weight every third day. Therefore, he
swims, jogs and lifts after 6th day. In addition, he plays tennis on Sundays. After how many
days, he will do all these activities on the same day.
a) 48 b) 40 c) 14 d) 42
Q2.  Find the average of 0.3, 3,0.03 and 0.002 is :
a) 0.833 b) 0.803 c) 83.3 d) 833
Q3.  Kiritika rented a scooty for 330 minutes. How much rent did she pay if the rent of the scooty
for first hour is X8.75 and every additional half an hour is ¥5.25?
a) X 56 b) X 49 €)X 48.75 d) X 55.25
Q4. Ifadiagonal of a rectangle is thrice its smaller side, then its length and breadth are in the ratio:
a) 3: 1 b) ¥3:1 c) v2:1 d) 242:1
Q5. The cost of a chocolate is % (p+3) and Seema bought (p+3) chocolates. Find the total amount
paid by her in terms of p. If p = 10, then the amount paid by her is
a) p° + 6p+9 ; 2169 b) p? + 6p+9; 2196
c) p>+6p + 6; 186 d) p? +9; 2109
Q6.  The ratio of ages of two girls is 5: 6. After 2 years the ratio of their ages will be 7: 8. The ratio
of their ages after 12 years will be
a)l11:12 b)12:14 C)24:22 d) 17 :18
Q7. If nisa natural number then n(n + 1)(n + 2) is always divisible by
a) 4 b) 5 c)6 d)7
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Q8. A man leaves his estate to his wife and two sons. If the wife receives § of the estate and each
son receives % of the remainder, find the value of the entire estate in rupees, if each son
receives 240000 as his share.

a) ¥120000 b) 3200000 ¢) *160000 d) 2240000

Q9.  Find the value of: Z>< z 23 i

3 2.%0f1-
6 3 4
1 2

Q10. The perimeters of 5 squares are 24 cm, 32 cm, 40 cm, 76 cm and 80 cm respectively. The
perimeter of another square equal in area to the sum of the areas of these squares is
a) 31 cm b) 62 cm c) 124 cm d) 961 cm

Q11. The least number of square tiles that will be needed to pave a plot 225 m by 30 m is
a) 30 tiles b) 15 tiles c) 25 tiles d) 45 tiles

Q12. Find the value of a + b + c, if 373a is divisible by 9, 473b is divisible by 11 and 371 c is
divisible by 6.

a)7 b) 6 c)0 d)9

Q13. In a set of 12 questions, 4 marks are awarded for every correct answer and -2 marks for every
wrong answer. Smriti gets five correct and seven wrong answers. What is her score?
a) 6 b) 8 c)9 d) 12

Q14. 0.75 of a number is 1200. What is g of that number?

a) 1000 b) 1060 c) 880 d) 8002

Q15. Three regular hexagons, each of same dimensions are joined as shown in the figure shown
alongside:

Find the perimeter of the figure so formed.
a) 96 cm b) 105 cm
c) 84 cm d) 70 cm

Q16. Fencing of a house costs ¥5452. If the rate is 394 per metre, and the breadth is 10 m, find its
area.

a) 70 sg.m b) 140 sg.m c) 240sg. m d) 190 sg. m

Q17. Assertion (A): The numbers 61 and 71 are prime numbers. Both these numbers have a
common digit 1 in them.

Reason (R): The numbers other than 1 whose only factors are 1 and the number itself are called
Prime numbers.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
c) Alis true but R is false
d) Ais false but R is true
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Q18.

A rope of length 120 cm is cut into two pieces. One piece is used to form a rectangle of length
20 cm and width 12 cm and the other piece is bent into a regular heptagon. What is the length
of each side of the heptagon?

a) 16 cm b)5cm c) 8 cm d)4 cm
Q19. How many glasses of 120 millilitres can you fill from 3 litres of juice?
a) 20 b) 24 )25
d) 60 ml is left in the can after filling as many glasses as possible.
020. Finda, if 5--32-a+32+1127
3 3 5 5
2 2 3 ,
a) 2 by 3 c) 4 d) 3§
Q21. Find the area of figure AOBCD from the given figure.
t
A f4— 6{) cM = )
Scm
Y C
2cm
< A 4 >
Ole—30 c:m—»B
v
a) 400 square cm b) 300 square cm ¢) 200 square cm d) 500 square cm
5- 8 5
Q22. Thevalueof g4
3-1.2
a) 1.69 b) 3.86 c)3.43 d)3.13
Q23. Latika wants to put a border around her bedsheet of length 10 m and breadth 5 m 60 cm. Find
the total cost of the border required at the rate of X 90 per metre.
a) 32808 b) 32505 c) 32408 d) 2605
Q24. Suman did a multiplication sum of 104 x 25 and got the answer. She suddenly realize that the
question written on the blackboard was 104 x52. What will be the difference between her
answer and the required answer?
a) 2588 b) 2808 c) 2800 d) 2890
Q25. The HCF and LCM of two numbers are 84 and 21, respectively. If the ratio of the two numbers
is 1:4, then the larger of the two numbers is:
a) 12 b) 48 c) 84 d) 108
Q26. In atriangle POQR, if PQ + QR =10 cm, QR + PR =12 cm and PR + PQ = 16 cm, then the
perimeter of the triangle is:
a) 19 cm b) 17 cm c) 28 cm d) 22 cm
Q27. What is the largest four-digit number that is divisible by 15, 25, 40, and 75?
a) 9600 b) 9700 c) 9800 d) 9900
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Q28. If we multiply a fraction by its reciprocal and add the product to its additive inverse, we get the
1
fraction 11 . Find the original fraction.
2t 1 L EE ot
a) 11 b) 11 c) 11 d) 11
Q29. The ratio of number of boys and girls in a school of 720 students is 7 : 5. How many more girls
should be admitted to make the ratio 1 : 1?
a) 160 b) 120 c) 145 d) 170
Q30. A wire of length 20 m is to be folded in the form of a rectangle. How many rectangles can be
formed by folding the wire if the sides are positive integers in metres?
a)5 b) 4 c) 6 d) 10
SECTIONC
SCIENCE
Q1.  Refer to the given flow chart.
Yes
It gives brick red colour with Yes -
Benedict's solution on heating.
\LNo
ﬁt gives blue black colour with iodine. %
\LNo
It gives purple colour with copper
sulphate solution and caustic soda.
1]
Select the option that correctly identifies P, Q and R.
P Q R
a) Apple pulp Potato Egg
b) Mango juice Groundnut oil Butter
c) Broccoli Butter Tomato
Q2. Hansika categorised plants on the basis of their parts that are generally eaten. She made four
groups of three plants each. By mistake she placed one wrong member in each group. Identify
the wrong member of each group and select the correct option.
Group I: Asparagus, Ginger, Radish
Group Il : Cumin, Fennel, Cinnamon
Group I11: Cauliflower, Broccoli, Lettuce
Group 1V : Carrot, Turnip, Potato
a) Radish of group I should be interchanged with potato of group IV.
b) Cinnamon of group Il should be replaced with Tapioca.
c) Lettuce of group 111 should be replaced with coriander.
d) Broccoli of group 111 should be interchanged with turnip of group V.
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Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Which arrow(s) is marked wrong among P, Q, R and S:

Leaves

Py T a

4 Stem

Index:
— \Water
Ry 2§ T

Roots

a) P b) Q R d) S

Three identical bulbs namely P, Q and R are connected to a battery as shown. What will
happen when the circuit is closed?

A7
K

—= Battery

-

a) R will glow bright but Q and P will be dim.
b) P, Q and R all will glow equally bright.

¢) Q and R will immediately burnout.

d) P will glow bright, but Q and R will be dim

What is the purpose of a centrifuge in the separation processes?
a) To filter solids from liquids

b) To separate substances based on density

c) To evaporate liquids quickly

d) To separate magnetic materials

What happens to the brightness of a light bulb in a circuit when the voltage is increased?
a) It gets dimmer b) It stays the same
c) It gets brighter d) It turns off

A is a vitamin that helps blood clot. B is a vitamin that acts as an antioxidant. C is a mineral
that prevents goitre. D is an element that is present more in carbohydrates as compared to fats.
E is a starchy food.

Identify A, B, C, D and E from the options given below:

a) A-C, B-K, C-lodine, D-Hydrogen, E- Rice

b) A-K, B-D, C-Calcium, D-Nitrogen, E-Potato

¢) A- K, B-C, C-lodine, D-Oxygen, E- Potato

d) A-E, B-C, C-Iron, D-Hydrogen, E-Bread

A pointed object is placed in front of a plane mirror. If the object and the mirror start moving
away from each other with speed ‘v’ along a straight line, then speed of the image with respect
to the mirror is

a)Vv b) 2v c) 5v d) 6v

Two mirrors P and Q are placed such that they form an angle of 60° and a ray of light is
incident on mirror P at an angle of 55°. What is the value of angle A between incident and
reflected rays if the ray gain gets reflected by mirror Q?

a) 35° b) 50° c) 55° d) 70°
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Q10.

Q11.

Q12.

Q13.

Q14.

Mohan takes 15 minutes to go from his home to school and 30 minutes for the return journey.
If the distance between school and home is 4.5km, what is the average velocity?
a)0 b) 5m/s c) 4m/s d) 3m/s

A train leaves a station X at 5pm and reaches another station Y at midnight. If the speed is
90km/h, then what is the distance between X and Y?
a) 480km b) 630km c) 800km d) 830km

Assertion (A): A high-fiber diet can help regulate blood sugar levels.

Reason (R): Fiber slows down the digestion of carbohydrates, preventing rapid spikes in blood

sugar.

a) Both assertion and reason are true, and the reason is the correct explanation of the
assertion.

b) Both assertion and reason are true, but the reason is not the correct explanation of the
assertion.

C) The assertion is true, but the reason is false.

d) The assertion is false, but the reason is true.

Assertion (A): Insoluble fiber aids in maintaining regular bowel movements.

Reason (R): Insoluble fiber softens stools and prevents constipation.

a) Both assertion and reason are true, and the reason is the correct explanation of the
assertion.

b) Both assertion and reason are true, but the reason is not the correct explanation of the
assertion.

C) The assertion is true, but the reason is false.

d) The assertion is false, but the reason is true.

A student is given a mixture of calcium sulphate, magnesium chloride and water. The table
below shows some information about calcium sulphate and magnesium chloride.

Substance Solubility in water Physical State at room temperature

Calcium Sulphate Insoluble Solid

Magnesium Chloride Soluble Solid

Q15.

How does the student obtain magnesium chloride crystals from the mixture?

a) Crystallisation followed by distillation
b) Crystallisation followed by filtration
c) Distillation followed by crystallisation
d) Filtration followed by crystallisation

Study the Venn Diagram given below-

Slow Change

Chemical Change

Non-periodic

Desirable Change chepge
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‘X’ represents:
a) Eruption of a volcano
c) Burning of Paper

b) Ripening of Guava
d) Rusting of an Iron rod

Q16. Study the given lists of adaptations in plants.
I. Leaves reduced into spines
ii. Drip tips
Iii. Sloping branch
iv. Fleshy stem
V. Thick waxy layer on stem
Vi. Cone shaped trees
Vii. Photosynthetic stem
Which of the given adaptations are of plants inhabiting rainforests (X), mountains (), and
deserts (2)?
X Y Z
a) vii, vi 1, ii, iii i, iii
b) ii, vii, vi v, v 1, iii
C) 1, 11, vii v, v i1, 1v
d) il iii, vi i, v, v, vii
Q17. Tripti made four sets of different plants based on their edible parts as shown here:
Set Stem Root Leaf Seed
1. Potato Turnip Lettuce Rice
il. Turmeric | Ginger Spinach Sesame
1il. Colocasia | Onion Broccoli | Mustard
1v. Ginger Carrot Cabbage | Almond
Which of these sets are correct?
a) 1 and iii only b) ii and iv only c) i and ii only d) i and iv only
Q18. The data given below shows the concentration of sugar and starch in an onion.
total sugar including starch
reducing sugar /g per 100g
/g per 100g
3.7 0.0
The onion is tested with Benedict’s solution and iodine solution. Which set of results is
correct?
Benedict’s Solution | Iodine Solution
a) Blue Blue-black
b) Blue brown
c) Brick red Blue-black
d) Brick red brown
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Q19. Two boys are standing in front of a plane mirror as shown in the given figure. If boy Y walks
5m towards boy X, then how far would boy Y appear to be in the mirror with respect to boy X?

a)9m b) 10 m c)llm d) 14 m

Q20. The diagram shows an object in front of a plane mirror. The mirror forms an image of the
object.

o M

N e e object

At which labelled point is the image formed, and which type of image is formed?

Position of the image Nature of the image
a) AtM Real
b) AtM Virtual
9) AtN Real
d) AtN Virtual

Q21. Read the given paragraph and select the correct option for P, Q, R and S.

P occurs in children due to deficiency of proteins. Deficiency of Q makes a person lose
stamina and get tired easily. R occurs in children due to deficiency of proteins and calories.
Deficiency of S causes tooth decay.

a) P- Kwashiorkor, Q-Calcium, R-Marasmus, S-lodine

b) P- Marasmus, Q-Iron, R- Kwashiorkor, S- lodine

c) P- Kwashiorkor, Q- Iron, R- Marasmus, S-Fluorine

d) P- Marasmus, Q- Calcium, R- Kwashiorkor, S-Fluorine

Q22. Study the given list of adaptations in plants.

i.  Fleshy stem

ii. Leaves reduced to spines
iii. Buttress root

iv. Long root

v. Drip tips

vi. Broad leaves
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Q23.

Q24.

Q25.

Q26.

Q27.

Q28.

Which of the given adaptations are of plants inhabiting rainforests (P) and deserts (Q)?

P Q
a) i, iii, v i, v, vi
b) i, iii, iv i, V, Vi
c) iii, iv, v i, 11, vi
d) iii, v, vi i, i, iv

Assertion (A): Plants release a lot of water into the air through the process of transpiration.
Reason (R): The water is released through the leaves in the form of water vapour.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is NOT the correct explanation of A.

C) A is true but R is false.

d) A is false but R is true.

Sarah mixed sand, salt and water in a beaker. She first used filtration to separate sand from the
mixture. What should be her next step to obtain salt and water separately?

a) Boil the remaining mixture to evaporate water and leave salt behind.
b) Use a magnet to attract salt particles.

c) Pour the mixture into another container and let it sit for a day.

d) Freeze the mixture to solidify the salt for easy separation.

Anil is investigating a plant species that grows in extremely cold environments, such as the
Arctic tundra. What special adaptation is most likely to be found in this plant to survive in such
harsh conditions?

a) Large, broad leaves for efficient photosynthesis.
b) Shallow root system to access surface nutrients.
C) Thick, waxy coating to reduce water loss.

d) Brightly colored flowers for attracting insects.

While using iodine in the lab, a few iodine drops fell on Samaira’s socks, and a few fell on her
teacher’s saree. The iodine drops on the saree turned blue-black, while the colour did not
change on the socks. What can be the possible reason?

a) Socks are made up of cellulose.

b) Saree is made of cotton and starched.

C) Socks contained a protein called Lycopene.

d) Teacher had applied some Copper sulphate on her saree.

A mixture contains three different substances X, Y and Z. They are of the same size, cubical in
shape and yellow in colour. X particles are very heavy, insoluble, non-magnetic and contribute
50% of the mixture. Y particles are very light, insoluble, non-magnetic and contribute 40% of
the mixture. And Z particles are iron pieces. Which of the following methods can best separate
X, Y and Z quickly?

a) Winnowing, Magnetic separation

b) Magnetic separation, Winnowing

C) Sieving, Magnetic separation, Filtration

d) Handpicking, Sublimation, Sieving

Which feature of fish will be affected if the Caudal fin of fish is not present?
a) Side to side movement that gives a forward push.

b) Stabilization of body.

C) Minimizing the water friction, that enables the swift motion.

d) Waves of contraction passing through the body.
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Q29. “Do not handle electric wires with your bare hands. Wear rubber gloves,” said Mr. Gupta.
Which of the following statement is NOT true about what Mr. Gupta said?
a) You will get electrocuted if you handle live wires.
b) The rubber glove is a good insulator to protect us from electric shocks.
C) The rubber gloves control the electric current flow.
d) It does not allow circuit to be completed.

Q30. Why is sealing wax filled in the space between the terminals of a bulb?
a) To prevent the escape of air inside the bulb.
b) To prevent the contact between the two terminals.
C) To have a better contact of terminals with one another.
d) To give support to the supporting wires holding the filament.

SECTION D
ENGLISH

Q1. Read the following passage: 10 Marks

(i) Inour ever-evolving society, one of the most significant changes we've witnessed is the
shifting role of women. Historically, women were often confined to specific roles, such as
homemakers and caregivers. However, over the past century, women have made remarkable
strides, breaking down barriers and challenging traditional expectations.

(i)  One notable change is in the workforce. A century ago, women were mostly homemakers,
responsible for managing the household and raising children. Today, women are active
participants in the workforce, contributing to various fields, including science, technology,
engineering, and mathematics (STEM). They hold high-ranking positions in companies,
serve as doctors, lawyers, and engineers, and contribute to the global economy.

(iii) Another significant change is in the field of education. In the past, girls were often
discouraged from pursuing higher education. Today, girls have equal opportunities in schools
and universities. They excel in academics, participate in sports, and have access to a wide
range of career choices. The world has seen female scientists, astronauts, and leaders,
challenging gender stereotypes.

(iv) The changing role of women is also evident in politics. Women now participate in political
activities at all levels of government. They hold positions of power, serving as presidents,
prime ministers, and parliament members. Their voices are essential in shaping policies and
making decisions that affect the entire society.

(v) Women have become more vocal and active in advocating for their rights. They engage in
movements and campaigns, focusing on issues such as gender equality, workplace
discrimination, and violence against women. These movements have raised awareness and
prompted societal changes to create a more equitable world.

(vi) Despite these significant changes, challenges persist. Gender inequality is still present in
many parts of the world. Women continue to face discrimination, unequal pay, and limited
access to education and healthcare. The changing role of women is a journey that is far from
complete, and there is still work to be done to achieve full equality.

Based on your understanding of the passage, answer the questions given below:

i. What has been one of the most significant changes in our society over the past century?
a) The increased role of technology
b) The shifting role of women
C) The decline of education
d) The growth of the agricultural sector
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ii. What were the traditional roles of women in society?
a) They held high-ranking positions in companies.
b) They were homemakers and caregivers.
C) They were active participants in the workforce.
d) They were astronauts and engineers.

iii. How have women's roles changed in the workforce?

a) They have primarily remained homemakers.
b) They have become active participants in various fields.
C) They have focused on education.

d) They have avoided the STEM fields.

iv. What opportunities are available to girls in education today?

a) They have no access to schools and universities.
b) They have equal opportunities for education and career choices.
C) They are discouraged from pursuing higher education.

d) They are limited to sports only.

v. What are some of the career choices available to girls today?

a) They can only become homemakers.
b) They can excel in academics and choose any career they want.
C) They can participate in sports.

d) They have no career options.

vi. How has women's involvement in politics changed?

a) Women were discouraged from participating in politics.
b) Women hold positions of power and serve in various political roles.
c) Women are not involved in politics.

d) Women have limited access to political activities.

vii. What issues are women advocating for actively today?

a) Workplace discrimination, violence against women and gender equality.
b) Limiting opportunities for girls in education.
c) Equal pay for women.

d) Promoting gender stereotypes.

viii. Despite the changes, what challenges do women still face in society?

a) Discrimination, unequal pay, and limited access to education and healthcare.
b) Equal opportunities and complete equality.
C) No challenges remain for women.

d) Only challenges in the workforce.

iX. What has raised awareness and prompted societal changes regarding women's rights?

a) Increased gender discrimination.

b) Movements and campaigns focused on women's issues.
C) Decline in women's participation in politics.

d) Reduction in access to education.

X. What does the passage suggest about the future of women's roles in society?

a) Their roles will remain unchanged.

b) The journey is complete, and they have achieved full equality.
C) There is still work to be done to achieve full equality.

d) Their roles will become more limited.
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Q2.  Writing Skills 10 Marks

a) As I was leaving school one day, I saw something unusual on the ground...
Write a story in 120-150 words and it must include-
e something valuable
e adecision.

OR

b) Write a paragraph in 120-150 words discussing the impact of Social Media on a
teenager’s life.
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ANSWER SHEET FOR ENGLISH

Name of the Student:
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